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2_uilflwev / BIOLOGY

(s wHmID Y Bidle eufl / Tamil & English Version )

&Te 2jera] : 3.00 wewil CHIL ] [ Qrss wHUCueTger : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sdlejemraet : (1) Sarsg edlarmss@pd sflwurs ueurd o dreTsT ereamLSaman
sflurrggls Camerere]b. &FsliLSledler Gapuil@mulber amms
sasrentiiiurerilb o | arguwirgsd Csfellssean.

(2) Beod g aLY ewulear i HGWL erpgeush@EL LWaLHSS
Couar(hd. ULLM&EET euedFeusH@&h, igsGamig(heusn@n
QuenFled LweTU(HSSe|LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@olly : u@d -1 (2wWifl-greureiwe), u@d-1I (ulfl-alondud) saisseafl
ellenLgamafler ellenLwieafl&saLb.
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

U@ - I (2_ulfl-greureSuiev) / PART - I (BIO-BOTANY)
(ndlliQuenrger : 35) / (Marks : 35)
Slfley - 1 / SECTION - 1
GOy : () IS g NHaTssEnsEhn eflenwaflésa]L. 8x1=8
i) OGasr@ssuul(@erer wrHm elLsalled Wb gHLenL W

denLenws CasposBs855 GMULHLear alenLulemaryb Cargg
CT(LPSELD.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

[ Spliys / Turn over
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1.

< epACumrev@umbsefler e Call CLrenul gem (pse GlFe

(1) @ esrain S (<) piai eflgg)
(@) Gum &isg) (m) 2L80
First cell of Male gametophyte in angiosperms is :

(a) Primary endosperm (b) Microspore
(c) Megaspore (d) Nucleus

®5% Uamdeamenr GUHD FTw Heulll WWOTHMET 2L FTUTD @55
uearenar 2 enlwl CeudTener e CasmenT G SreuFsgiLer el ClFuiujb
Curg L GG W& FshsS

(=) Smanggid SlealliL werser  (<2),) Q6D GleueTeneT LDeTSET

(@) @b Feuliy WweTa6T (F) Smandgid CleueTenaT eT&eT

If a homozygous red flowered plant is crossed with a homozygous white flowered
plant then the off-spring will be :

(a) All red flowered (b) Half white flowered
(c) Half red flowered (d) All white flowered

T S&slg @@ ‘bruay Geselliur® dledllurert &s@mellwrs
LwetuhSSLILBHH DG ?

(1) GMF (=) @l Lallgel LFsb
(@) GFP (rr) PLA

Which is frequently used as reporter of expression ?

(a) GMF (b) Circular protein

() GFP (d) PLA

MEUTE) MM STEUTBIGET @H6(HBHE 2 (HeurssLLhSlemer :

(=1) Cged WFenel eueTTLiL| (=),) 2miiy eueriiiy

(@) W&555e cueriiiL (/F) yCrrlGLmlerrs euemmii]
Virus free plants are developed from :

(a) Cell suspension culture (b) Organ culture
() Meristem culture (d) Protoplast culture
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QUTRSSIS :
(1)  ever_CearrCugls (i) e ldyssenenn
2)  ev@LGarrdlwiev i) Breurp QL sHem <y ipid
(3) oL Cearranreaer (i) 2 ewrey
4) G GarmooLmradls (iv) eumPL s Csiray
(<=1) (@) - (), () - (), (3) - (iid), (4) - (ii)
(=) (@) - (i), (2) - (@), () - (i), (4) - (iv)
(@) (i), (2) - (©), B) - (iv), (4) - (ii)
(%) (1)~ (i), @ - (v), @) - () @) - (i)
Match the following :

)  Stenobathic (i)  Salinity
2)  Stenoecious (i) Depth of water/habitat
3) Stenohaline (iii) Food

(iv) Habitat selection

(

(

(3)

(4) Stenophagic
(a)

(

(

(

@Caratler ojgalei WL W erarliLhielg) :
(=) wsHw eCamen (<) eCaren seuFd
(@) vwerdy eGsmen
The Ozone layer of troposphere is called :

(a) Middle Ozone (b)
(c) Bad Ozone (d)

(/) meenld SHLd eGamen

Ozone Shield
Good Ozone

&S] opmid 2 e Semepoenil STEIGLD STeurddler Gl
(<) Qararmedlsm
(@) rurCerm Wprdléasm

Name the plant which is pest resistant and saline tolerant :
(a) Sonalika (b)  Triticale
(c) Rhaphanobrassica (d) Atomita-2

(<) LA GCadd
(FF) <L mlim-2

[ Sl / Turn over
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8. aafls fHwrs wasHwuggeud eumips, Ceuarrasr srhHsafled aueTTéslLHID
LIRS GHIULAHS.
(=1) erflgenren, ojeSedlwm
(<=) wenGaulbL, &L DL
(@) <5Csadlum, SeVTqFTELT @Q6wTiq&T
(rF) Qaevurailum, <&CHadlwim
Some of the major species cultivated in Agroforestry for commercial use :
(a)  Erythrina, Albizzia
b) Malaivembu, Kadambu

(
() Acacia, Azadirachta Indica
(d) Sesbania, Acacia

Slfley - 2 / SECTION - 2
GOy : Spsarayd darssale gCsebd BresE NaTsEsErssE
e wefl&sab. 4x2=8
Note : Answer any four of the following questions.
9. egFldfll - euerumIESHaLD.
Define Cybrid.

10. &lengliLbSlen LIWLIGTSET BHremslenet 6T (Lps)s.

Write any four uses of Seedball.

11. gniesw Cobur@h Cesweé HiLgdler @HsCsmer wrg ?

What are the objectives of clean development mechanism ?

12. @Qupens CoueTmeartentd - eUENTLIMI&HSHELD.

Define - Organic farming.

13. BloGeaubler sreurellwe Guwr wHmib @GhwbusSamers GHLUEGL®H, Coeid
&(ThH LIWIGH 6T(LpgI%.

Write the Botanical name and family of Nilavembu. Write any one of its uses.

14. 2.ulr@smfleo miueilwele LweTLHL CBrHseT wreneu ?

Name the enzymes involved in genetic engineering.
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1Slfley - 3 / SECTION - 3
GO : Spsarayd  odarssafler gCaed epetm  NaTTESEHSE
ellen_wefl&sa b. eflenm eranr 19 -&@ SL_Lmuwns edlenlweil&sse b, 3x3=9
Note : Answer any three of the following questions. Question No. 19 is compulsory.
15. mreng, wanfl sreurssle
Qouaflit LFws Gamer 2 LW FTaUFD X LT LFDE Qena 2 6L Ll STEUTLD

(<pamor) (Qer)

?

urpbuflwsdler cuansenw elleufsseyb.
In 4 o'clock plant

Pale green leaved plant x Dark green leaved plant
(Male) (Female)

Explain the type of inheritance.

16. pBR322 QermeviSll eresmmed ereviar ?
What is pBR 322 plasmid ?

17. us®WL Q@ lemere| raTHTe 6ramer ? L&MW Qe curyssefler Fmiy
LmkigefllGener LD eUuenys.

What is Green House Effect ? Draw the relative contributions of green house gases.

18. 2.em @efli urgsriL unmdl 6T(PFIs.

Give an account on cryo preservation.

19. yedl auriflib wHmb QFwe aurPlib SHweandng Qe Cu o drer
Coumiumr(hseT eperdlenend Famis.
Write the three differences between Habitat and Niche.

[ Sl / Turn over
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Slfley - 4 / SECTION - 4

GSNILIY : Semesisg HNaTssErsEhn eblenweflésse]w. 2x5=10
Note : Answer all the questions.
20. () WSIHS ST GHOIEIET LS UMEHEMET 6l6TEEs5.

21.

S|V
(<=),) LILED| EUEPTLIL LD GTETDITE) GTE6 ? S LILIGTSHENET 6T (LDS)IS.
(a) Explain the different mode of entry of pollen tube into the ovule.
OR

(b) What is gene mapping and write its uses.

(=) Gpblenew T &S LITGISTLILIS eTeueUTm ?
S|V

(<) Trped, Carapeyd elleusrulger. rmip gHasolilen epad LG QFg.
Camrup sl STeUrmISET epeold LIUdT QEwlgTr.

() Qe wrmsE YHw sreur euansser Slenls@Ld ?
(i) <Bs Cairey PerDUIET BETEMDEET LLHMID SELOGENET 6T (LS.
(a) How to protect the ecosystem ?

OR

(b) Ramu and Somu are farmers. Ramu cultivated the crops by self fertilization
method. Somu cultivated the crops from mixed population.

(i)  Who will get new variety ?

(ii) Write the advantages and disadvantages of their selection.
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L@ - 11 (2-ullfl-eSleomidluiev) / PART - II (BIO-ZOOLOGY)
(ndliQuenraer : 35) / (Marks : 35)
Slfley - 1 / SECTION - 1
@Oy : () eweuIsg HaTésErsEh el wefldsa]L. 8x1=8
i) OGsrHssuul(@erer wTHMm AL safler Wasayb ehHLyemLW
devLerwd Carpbgshdss @GMuILBHLear elleLulamenyb GCargg)
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1.  Speumelameudme, sHSCHTeTOrESESmSI UDHPIL 2 @Tanlrar gmhm eTgl ?
(=) smaybm WLenL udadmbg L GFe Hlaned 2 (Heumse
(<=4) e @Qergblaedr AHE@GSaMOmHS GO L 2 mililgser GCamemmise
(@) @r®s@ sm&Csarerb, epeuhida@ &MH&CHTETONS WIMILD HlEpEs
() sm&Gamerd smumuuier sFeuHLer el lgd CSTeTEhsea
Which one of the following is true to gastrulation ?
(a) Formation of multicellular structure from Zygote
b) Formation of specific organs from germ layers

(
(c) Formation of three germ layer embryo from single layer embryo
(d) Attachment of blastocyst to the uterine wall

2. Speumb Hlevaw Hlevpeybmmed, 2 (Heubrss @rlenl wise o (HeurssLliu(h-
HoTraer :
(=) @uar( allpg Cewser, e e Cabame Hmeynd lFuidlermer
(<) @re(h allpg CFerser, @reanT(h e Eisamerd SHHeynd ClFidemmer
(@) em edbg Cad, @ramh T BSmeTs &MHe ng ClFuidlermer
() e edbg C&d, e e CFoame Hmens Cleldng)
Identical twins are produced when the following condition is satisfied :

(a) Two sperms are fertilizing one egg
b

(b) Two sperms are fertilizing two eggs
(c)  One sperm is fertilizing two eggs
(

d) One sperm is fertilizing one egg

[ Sl / Turn over
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3.

QuUTBSSS.

) smdlrd Geuefledl(® ITUD (i) LNG-20
2)  anmiGurer Geuefled(h IUD (i) elluev euenerw IUD
) WwmhSleeor IUD (i) FrClamed
) mwgﬁmgaaeh (iv) Multiload-375
) (1) - (i), (2) - (i), (3) - (i), (4) - (iii)
<) (1) - (), (2) - (i), (3) - (), (4) - (iii)
OF )
)

g) @ ( )() (i)/ (3) - (iid), (4) - (i

Match the following :

(1) Copper releasing IUD (i) LNG-20

(2) Hormone releasing IUD (ii) Lippes loop IUD
(3) Non-medicated IUD (iii) Saheli

(4) Mini pills (iv) Multiload-375
@ (@)- @), (-G G)- ) @) - (i)

(b) (1) -(v), (2) - (i), ) - (), (4) - (iiD)

©  (1)-0), @ -0, @) - (), @ - [

d @ - @) @ -@1v) G)- () @) - (i)

q-.6T60T.6]. FTESENTEHEHEGD, M. 6Ta.6f. FTESMISHEREGL @QanLCul 2 6Ter

Caumiur( :

(=) 14~ &HelfNGuTen FT&EsamIuiled e A&HeVlNeET Dam AS SIS @) WHLILIS)

(<) MGume FT&HmTUIL @ A&HeINET G GMDEUTS Q(HLILIG
(@) NGumrey sr&smIuUler @ A HEINET ATMSHET GHEDMEUTS @)(HLILIS)
(

™) lg-AsealfCurey srssamruile @m sallgear am GODaITSs

Qouug
The difference between DNA sugars and RNA sugars is :
(a) One oxygen atom excess in deoxyribose sugars
(b) One oxygen atom less in ribose sugars
(c) Two oxygen atoms less in ribose sugars
(

d) One oxygen atom less in deoxyribose sugars
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Fgpm (5a) ruem rHpUul L Bt - umsSl, Crmi erdliliLg semenio
CsmaTL cuams.

SnyeswTd (&) : cry - B&&, @QFsTairsde o HusdH CFlwliuiheusre,
SMGEH UT(PLD LLEHNFSHEHEE THITET BL6Ulq &6 e)
rHUBS DG

(1) (8n) LHMID (BT) Y H LML 2 FTELLTRTENGE; 4,6amTed (&), (Fn) -enll
eferéaallevana

(=) (Fa) seum; (am) &l
(Q) (sa) wpmib (&) YSwemel SeupTETME
(FF) (8n) o ameplo pammed (&) Seum)

Assertion (A) Genetically engineered Bt-cotton is disease resistant type.

Reason (R) : Cry-toxin produced in the plant has specific activities against
free living fungi.

a) Both (A) and (R) are true, but (R) does not explain (A)
b) (A) is wrong ; (R) is correct
c) Both (A) and (R) are wrong
d) (A) is true but (R) is wrong

ELISA (pgenenloins @sn@&L Lwerlhing.
(=) N(BHDLUSSES LT EHmeT|enL Ll Sreurmismears GCsiey Glawwl
(=) Slle WIHDBISEDETS &errLHl

(@) Crpmius Hmuwlsamerd seurL_mdlu

() ed(pbUSSSES LaTLsameTam L afleom@smers Csirey ClFuiw
ELISA is mainly used for :

(@) Selecting plants having desired traits

b

(b)  Detection of mutations
(c) Detection of pathogens
(

d) Selecting animals having desired traits

[ Sl / Turn over
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7. a.Carewe -eow &L srssCrreavweven FrelleliCw M Cersams

Qe o LurTengeer 2 HuSSH CFiieudled Sphsgl. erem ?

(=) 2ulflu Qprdlseaiea er.Caranenw LWETLHSS (Pl ITg

(<) UrsmiseT 2 HUSSHES Yermevlsl(hageT or.Camena -ufled @)ebenad

(@) yrsmaemer Fi&smrGUHDD DL meusss CHeneuTer @)UnkIE SeTD
or.Gameney -ulleb @eveney

() yramasmer 2 nusdH Aelleugn s Coameuwrar or.Carana erafl Hle
HenL_LiLgléena

Why Saccharomyces Cerevisiae is more suitable for production of recombinant

interferons than E.coli ?

(a)  E.coli cannot be used in biofermentor.

(b)  E.coli does not have suitable plasmid for the production of proteins.
(c)  E.coli does not have the machinery for glycosylation of proteins.

(d)  E.coli is not easily available for the production of proteins.

8. el FrPfefeame Ws sEewwrear LTHLLEEHEE 2-6rermdl, <jydlub
Hlenaudley 2 eter ellemidlend erg ?

(1) pLCaredlgar (<=,) LUTQTL Ig SeiT

(@) upe»euser () @@ eumpaiser

Which one of the following are at high risk of extinction due to habitat destruction ?
(a) Echinoderms (b) Mammals

(c) Birds (d) Amphibians

Slfley - 2 / SECTION - 2
@y : gCaeid mren@ alamss@EnsE WL aflenLwefldse, . 4x2=8

Note : Answer any four of the following questions.

9. a@riLid alHuB e erarmTe eremer ? @& WwrHedlLm &ipm &l uder
THFHMELITeIg Brefled Benl Glumib ?
What is Ovulation ? In which day of menstrual cycle it takes place ?

10. Lejer Hear Crmid Crmil o @ TeusHSTar STeaurd WiTg ?
Write the cause of Down's Syndrome.

11. QuTean&er erenligl erenan ? of.Cameneuile) eTHFHmem eLIFmenm (& (LD &eT
2_6Imerent ?
What are Operons ? How many operon groups are present in E.coli ?



12.

13.

14.

11
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Qewerss CrTUSsmLGSTUL LOHMIWD WHSWwTar CHrissenL&amiiL

< Fweundbhdlen Cuiwjerer Coumuir(H&eT @) FewTiqener 6T(LpSIs.

Write any two differences between active and passive Immunity.

“Qarlegienn posanme’” ererm GOILLALLILIheug 6T& ? erem ?

Which is referred to as Industrial alcohol ? Why ?

ellg Fewr(h GlFegatien wpeHEHlwinmer LiwetUT(h eTerer ?

What is the most important application of human stem cells ?

Slfley - 3 / SECTION - 3

@Ol : Spsarand  alarssafldd  gCaed  epesimy  NaTTESEHS S
ellenwieflGseb. iHled edlarm erewr 19 -&@ SL_L_muns ellenLwiaflése, .

Note :

15.

16.

17.

18.

19.

Bliubhs oialdans CFLe eremmme eremer ?

What is known as "Let-Down" reflex ?

Lal&@LbglieneriiL unm GollL euenrs.

Write a note on "Amniocentesis".

3x3=9

Answer any three of the following questions. Question number 19 is compulsory.

amgwev &ril s&rs@n aprrGoraier Cuwm erearer ? <ibs anmiGuome e

Lenfl&eT @ remiqenar 6T (Lpgis.

Name the hormone secreted by Thymus gland and mention two functions of that

hormone.

LrUe eubidlasar uHME GDHILIL euenrs.
Write about gene banks.

sréHsreldler 2 L el 2 6Ter e(f Ll Ww&eT euplwurg Curans@s (gaodlimg.

@bs s LILESHLS5NI&SE euenruL LD (flowchart) &ms.

A character present in grandfather goes to grandson through daughter. Draw flowchart

for this pattern of Inheritance.

[ Sl / Turn over
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Slfley - 4 / SECTION - 4
@Ml : Mesteupd cllamés@nséE ellenlweflése, . 2x5=10
Note :  Answer the following questions :
20. (=) walls wrugn S sdler (HGP) auflpenmaeanet LIDMH 6T(LpGIs5.
S|6060F)

(<=,) wafgaier Lflaumy eueTTESlLITENSMW 656TEHEHs.

(a)  Write about the methodologies of HGP.
OR
(b)  Explain the evolutionary path of Man.

21. (1) Amy GOILY cuenrs :
() Qendaml L sdlen L5
(i) iy aisb wHmibd @nliy eigb
S|V

(<) eleusrwsgienpuiler CeauduQumrmLsener LwemUHiSSHeUSTR 6rHU(HLD
ellenera|sener eT(Lpg)s.

(a)  Write short notes on :
(i)  Population Density

(i) Natality and Mortality
OR

(b)  Write about the effects of chemicals used in the field of Agriculture.

-00o0-



